90V HTH AEEHT UelgS

Section (A) - 10 Marks x 3 Questions = 30 Marks
AT ATIITFAT T2F B 7 ATEAT SO F&F THerq ¢ (Define the
term conflict and describe your opinion abot the requirements for social
and cultural transformation in Nepal.) ' 10
2. WWW?WWWWW%?
FIOFHETH (999 T | (Discuss the policies and programmes
undertaken by the state in Nepal for the social Jjustice and equality.) 10
3. WW@W?O%:ﬁWWWWW
TR | (Clearly present the reason of low rate of population increase
in 2068 census in comparision to the past census and discuss the effects
of population increase in national economy.) 10
. Section (B) - 10 Marks x 2 Questions = 20 Marks
4. AIFR gAEHEE A@fidE fawamr @it A7 @w i ST @
W?W;WW@%W? faer=rT THER 1 (Discuss
the effectiveness of the three pillar economic policy (public, private and
co-operative)for the overall economic development of the country.) 10
5. TUEHT GATE  WEAAEL WA TET W SRrE  derArens
THEE | (Highlighting the importance of foreign aid in Nepal, describe
the measures that should be taken for effective mobilization of foreign
aid.) 10

Section (C) - 10 Marks x 3 Questions = 30 Marks ‘
HAATAET I TR, | (Clearly spell out the concept of 'sustainable
development” and also mention the major hindrance of the sustainable
development in Nepal.) 10
7. arrE favawr fawrmwr gEwEts (Cruss-cutting) @471 FHETHIE
s & & g7 1 AUEH faveraer A7 fawreser saraEdt dhe T
AAYATETHL TRTHE M WUH B ¢ (What are cross-cufting and
contemporary issues of development in the present world? In your
analysis, how such issues of development are internalized and
mainstreamed in Nepal's mpresent periodic plan document for bringing

effectiveness?) 10

=g



8.

10.

T 7 WA (AT TFRCHE T FHLAHE TR T TR |
(Describe the positive and negative roles of socio-cultural tradition,
social values and norms on the socio-economic development of Nepal.)
, 10

Section (D) - 10 Marks x 2 Questions = 20 Marks
Wﬁmﬂmwmﬁmm.wm

- faFr=rAT TErE. | (Mentioning the reasons of deforestation, discuss the

effects of deforestation in Nepal.) 10
Wﬁﬁwwwﬁmaﬁm@ww%ﬁ?wa
/Y FFpeare qfw TFH F T I4E 7 Fer@ Terd | (In spite of being a
rich country in water resources, what are the causes of having energy -
crisis in Nepal? And, mention what needs to be done to get rid of such
crisis?) 10
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dqel =t (Paper V)

Account And Fmance (001)

1. Financial Accounting

1.1 Company final accounts & financial statements analysis: Financial
statements of company, generally accepted accounting principles,
national and international accounting standard and compliances for
company financial statements, preparation of financial statements based
on worksheet as per current company Act and value added statement
and their analysis for appraising the performance

1.2 Financial statements of banking and insurance company:
Preparation of financial statements based on worksheet as per current
Company Act and Directives of controlling” authorities and their
analysis for performance appraisal

1.3 Growth, expansion and reconstruction of company business:
Concept of amalgamation, absorption and reconstruction, purchase
consideration: determination/calculation showing mode of payment,
entries in the books of purchasing and vender company:; for internal &
external reconstruction, balance sheet of purchasing company,
expansion through holding ~company: reasons for holding,
determination of pre- acquisition profit, minority interest, cost of
control/goodwill or capital reserve, revaluation of assets. dividend from
subsidiary company, inter-company debt and unrealized profit,
consolidation balance sheet -

1.4 Corporate Liquidation: Business failure: reasons for failure,
procedure of winding up as per current Nepal Company Act,
liquidator’s statement of account

1.5 Accounting for Profession: Concept of professional men (medical
practitioners, lawyers, chartered accountant et¢.) and preparation of
income statement, income and expenditure account, receipt and
payment account, and balance shaet

2. Cost accounting
2.1 Introduction: Meaning. objectives, importance, limitations of financial
*accounting and, difference between cost and financial accounting

2.2 Cost: Concept, important and classification on different basses, cost
segregation & estimation: concept and different. methods of
segregation(least square method & high-low method) '

2.3 Inventory management and control: Purchase procedures, handling
and issuing of materials and costmg under different costing techniques
(FIFO & LIFO methods). inventory .control techmq_ues - economic
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2.5

2.6

3.

order quantity under certainty condition, different’ stock levels, stock
control through ABC analysis, just in time inventory

Labour costing: Concept and types of wage, fringe benefits & salary in
liew of profit, allowances, idle time, leave pay etc.. remuneration
system- time and piece rate and premium/bonus scheme-Halsey and
Rowan Plan, Taylor’s differential piece rate system, Labour turnover:
causes, measurement of labour turnover cost: leaving cost, replacement
cost, training and learning cost ‘

Overhead costing: Meaning and types, accumulation. and
classification, allocation and apportionment: primary & secondary
distribution, overhead cost absorption: methods and ascertainment of
total cost and profit under traditional costing system, Activity Based
Costing (ABC) technique: Concept, limitation of traditional overhead
cost absorption system, ascertainment of cost and profit under ABC
technique, benefits and limitations of activity based costing system
Service costing: Concept and scope of operating costing; Cost sheet
for: Transport service costing: Cargo and people, Hotel and Restaurant

service costing and Hospital service costing, limitations of service - -

costing.
Management accuuntmg

3.1 Introduction: Meaning, objectives, scope, advantages and limitations

difference between cost & management accounting

3.2 Absorption and Variable costing: Concept, importance, limitations,

33

income statement under absorption and variable costing techniques,
normal capacity and fixed manufacturing overhead rate

Cost volume profit analysis: Meaning, importance, contribution
margin ratio, cost- volume  ratio, margin of safety, assumptions,
advantages and limitations of CVP analysis, Break-even-analysis: under
constant underlying situations using contribution margin; income
statement, algebraic & graphic approaches.and under changed situation:
changes on selling price, fixed cost. and variable cost, and under multi-
products situation

3.4 Standard costing: Concept, difference between standard and budget,

advantages and limitations, variance analysis: concept and types:
material, labour and overhead cost variances

3.5 Budgeting for planning: Budget- concept, importance, and types- sales

budget; manufacturing budget, material consumption and purchase
budget. production budget, labour budget, manufacturing overhead
budget, cost of goods manufactured budget, administrative, selling and
distribution and cost of goods sold budget flexible budgeting: concept,
importance and limitations of planning (static budget), flexible
budgeting on activity levels and budget allowance basis ificluding for
actual level attained ;

&R



4. Taxation

4.1
4.2

Introduction : Meaning , objectives and types

Income Tax: Current income tax act, relation between constitutional

provision, tax acts, tax rules and finance acts, exemptions and
deductions: exemption on income, income tax rebate and deduction
allowed. expenses .not allowed for deductions, special provisions for
natural persons, entities, insurance and banks,  retirement Savings.
assessment of tax liability: valuation of perquisites, computation of
taxable income and tax liability from various sources of income, types
of assessment, payment of tax, collection of tax, tax refund, set off and
carry forward of losses, interest and penalties, administrative review
and appeal :

4.3 Value Added Tax: Concept, objectives, features and coverage of VAT,

taxable & exempted goods and serviees, VAT: registration, VAT
accounting, return filing, collection and refund of VAT. administrative
revision, appeal, fine and penalty

Auditing —

Introduction: Nature, scope, objectives, detection and prevention of
fraud and errors, Accounting, Auditing and Investigation, distinction
between vouching and verification

5.2 Internal check and control: Internal check and internal_ audit, verification

and valuation of asset and liabilities i

5.3 Appointment, remuneration and right and duties of an auditor: Nepal

company act and other legislations governing audit, company auditor:

qualification, appointment and removal, remuneration, qualities, rights
and duties, liability of an auditor: legal provision, limited company
auditor ‘

5.4 Audit report: Meaning, content and types statﬁtory, general, qualified,

5.5

5.6

tax audit report

Government audit in Nepal : Concept, objectives, difference between

government audit and commercial audit, internal audit, : concept,
objectives, internal audit of expenditure, debts, deposit, remittance ans
Stores, audit report .
Auditor General : Introduction, function, responsibility and roles in
government audit, final audit of expenditure, debts, doposit, remittance
and stores, audit report

Financial Management: e

Introduction: Nature, functions and goal of financial management,
relationship with other functional areas. ‘

Banking: Concept, functions and importance of Central Bank,
Commercial Bank, Development Bank and Finance Company. legal
provisions under current Nepal Rastra Bank Act and its directives to

T3



6.3

6.4

6.5

6.6

banks and financial “institutions. Company Act, Bank and Finacila
Institutions Act. y i

Insurance: Concept, nature, scope, types: life insurance, non life
insurance or general insurance. marine insurance, fire insurance.
miscellaneous insurance, re-insurance, life fund and general reserve:
legal provisions under the insurance company act, Nepal Insurance
Board and its functions

Cost of capital: Introduction, components of cost of capital, cost of
debts, preferred stock, equity and weighted average cost of capital.
Capital structure analysis: Meaning and concept, leverage, meaning.
types and measurement; effect of leverage on EBIT and EPS, analysis
of alternative financial plan: EBIT- EPS Analysis. determination of
indifferencefequilibrium point £

Capital budgeting: Introduction, investment proposals and projects;
capital investment budgeting procedures and determination of cash flow
steam, appraisal of capital investment proposal: meaning, need,
importance and techniques, payback period, average accounting rate,

“and discounted techniques: net present value, profitability index and

internal rate of return

--- The End ---
Table of specification
T ' : . Specification
[;::t Contents Title W:lgeht ?;2'“:’: Level | Level | Level
i ! ; g : I o | m
1. Financial Accounting 25 25 8 10 7
2. Cost accounting I3 15 4 6 B
3. Managgment 15 15 5 6 4
accounting .
4. Taxation 15 | 15 4 6 5
5. Auditing - 15 15 5 6 4
6. Financial 15 15 4 6 5
management
Total - 100 |. 100 30 40 30

oy




Sample MCQs of Account & Finance

Level T questions

.

Cost Accounting provides all of the following information except

(A) Product costs (B) Cost of goods sold

(C) Inventory valuation (D) Cash forecasts

Which of the following is not one of McCarthy's Four P's?

(A) Product : (B) Price .

(C) Profit (D) Place

The main advantages of Piece Rate System s ............. V(o SR R

(A) simplicity and guarantee off minimum wages

(B) simplicity of labor cost and unity among workers

(C) simplicity and accuracy of labor cost ’ _

(D) guarantee of minimum wages and accuracy of labor cost

Which of the following bets defines marketing?

(A) The maximization of company sales

(B) Improving the market share of organizations

(C) Matching the resources of organizations with identified customer
needs

(D) Increasing the profitability of buyer-supplier relationship

Level IT questions

5.

Identify "True" or "False" in following statements:

1. Service costing is applied to ascertain the cost of the products

2. Cost of operating the service is ascertained by preparing Job
Account . '

(A) 1 is true but 2 is false (B) Both statements are true

(C) Both statements are false (D) 1 is false but 2 is true )

In a period, opening stock were 12,000 units and closing stock 14,000

units. The profit based on variable costing 'was Rs. 50,000 and Profit

using Absorption costing was Rs. 60,000. The fixed overhead

absorption rate per unit is:

(A)Rs.6.00 (B)Rs.7.50 (C)Rs. 5.00 (D) Rs. 5.50

Identify the objectives of Cost Accounting from the list given below:

L. to reveal managerial efficiency

2. to ascertain true cost of product and service

3. to analyze and classify the cost of production

4. torecord day to day transactions of business :

(A)land4 (B)2and3 (C)2and 4 (D) 3'and 4

A manufacturing company uses Rs. 20,000 materials per year. The

ordering cost per order is Rs. 200 and carrying cost is Rs. 50. The

company currently has an optimum’ purchasing policy. In this case the )

Economic Order Quantity will be:



(A) 200 units (B) 300 units (C) 400 units (D) 500 units
9. The following diagram presents the graph of Economlc Order quantity

v
; i TC Curve
OC Curve -
C;C Curve
"o- N O =X

The graph represents that Economic Order Quantity id determined at a
- point, Where: y LR
(A) Total Carrying Cost exceeds to Total Cost
(B) Total Carrying Cost is equal to Total Ordering Cost
(C) Total cost exceed to Total Carrying Cost
(D) Total Ordering Cost exceeds to Total Carrying Cost
10. Which of the following statements is correct?
(A) Marketing is the term used to refer only to the sales funn.non Withm
a firm
(B) Marketing managers usually don't get involved in producuon or
distribution decisions
(C) Marketing in an activity that considers only the needs of the
organization, not the needs of society as a whole
(D) Marketing is the activity, wet of institutions, and processes for
creating, communicating, delivering and exchanging offering that
have value or customers, clients, parents and society at large
Level ITI questions
11. Read the following statements and identify the correct and incorrect

alternative.
a. The term 'Allocation’. 'Apportionment' and ‘Absorption’ carry the .~
same meaning = -

b. Under absorption of overhead means that the absorbed overheads
are more than actual overhead

¢. Over absorption of overheads lead to over statements of cost

d. When actual overheads are more than absorbed cwerhead itis
known as over absorption

(A) a and b are incorrect, ¢ and d are correct
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(B) aandb are correct, ¢ and d are incorrect

(C) a, b and d are incorrect and ¢ is correct

(D) a, band ¢ are incorrect and d is correct
12. Match the followings:

a. Bin Card 1. is used for issuing materials

b. Material Requisition Form 2. is prepare by Pay Roll Department

¢. Motion Study 3. records quantity of materials

d. Wages Study 4. is conducted by Engineerin
; Department .

(A) a-4, b-2, ¢-3, d-1 (B} a-3, b-1, c-4, d-2

(C) a-2, b-3, c-4, d-1 (D) a-1, b-4, ¢-2, d-3

13. Match List- I with List — IT and select the correct answer using the code
given below the lists;

List I (4 Ps) List IT (replacement 4Cs)

a. Product I. convenience
b. Price 2. consumer
c. Place 3. cost
d. Promotion 4. communication
Code i
Y (A) a b ¢ d
Ck 4.:3 1 2
(B) R JR
1 2 3 4
(C) I VR, SRR
2 3 1 4
(D) a b C d
4 3 2 I

I4. Which of the following statements is/are correct? .

1. Generic promotion occurs when a specific brand of product is
promoted. : ;

2. Trade discounts are also commonly called as functional discounts.

3. *Payment period is the length of time before payment is received.

4. Skimming involves the introduction of a product at a high price for
affluent customers:

Select the correct answer using the cade given below:

(A)Only [, 2 and 4 (B)Only2 & 3

(C)Only 2,3 and 4 (D) Only |

(S



(RET ULEUSES (Old Questions)

o Jar 3=t .
TS qad SO, aurtafus awer fafa= @& g, w0
‘ HE T G ave s ot e
O : q HUET 30 PRE fiafer : 2080/ R/ 33 T
= Ty (Yfeew) fas@ : Account & Finance
FETd TR (00 X3 = 00 HH)

SRS TEITAF Key #iAa 799 i@ TG | o AT
TEEEAH 7 &S |

tad

Which Account Controls cost?

(A) fa<frr #@T (Finacial Account)

(B) mrre =@t (Cost Account)

(C) Sra=TIe #A (Management Account)

(D) %A wfF &5 (None of the above)

TeaE ANTAEEEH He TS & WS ¢

What is called to total sum of Direct Cost?

(A) F= &1 (Total Cost) (B) 9= =T (Prime Cost)

(C) feqw s (Foxed Cost) (D) %+ Tf &4 (None of the above)

aﬁmmmmﬁ?ﬁmwwamﬁ?mamsﬁ

farsrer wivea

In which basis of classification, costs are classified as direct cost and

indirect cost?

(A) TEATET 7 YBHATE AT (on the basis of production & process)

(B) Y& 7 Fea@l AT (On the basis of Nature & element)

(C) FTH=T ATATAT (On the basis of function)

(D) Tiaa=sferFATE ATEAT (On the basis of variability)

qq% uiiestaE & = (Differential piece rate system) 1 YA T

| S B g

Differential piece rate system was introduced bBY il -

. (A) TR 5. X (F.W. Taylor)

(B) &T+4 (Hasley)

(C) 2fsrg Fa= (David Rowan)

(D) T T (Max Weber)

ge Feraeorer S FEF FEATSTOIA |

Identify True’ and 'False' in the following statements:

(1) - FTET ATEEH ARTAE FOIE, gyt T, Tats feawr 7 aaaH
7 ToErE W ONAET aEEew 9 &iEes | (According to

o =




functional classification, cost can be. classified as manufacturing.
administration, selling and dlsmbutwn and research and
development)

{U}ﬁwawmmmmﬁwmwvﬁmm
AT FEf@el T AfFes | (According to  controllability
classification, cost can be classified as controllable and
uncontrc 'lable cost) '

(A) 1 &1 &1 2 %8 & (1 is true but 2 is false)

(B) g4 faazore®. &% B (Both statements are true)

(C) 5= faawue= ¥8% B (Both statements are false)

(D) | =8 & 2 &% & (1 is false hut 2 is true)

et ZTEeA (Inventory Management) 1 THE JE¥A6E FT FT & 7

Identify the objectives of inventory management from the list given

below:

1. =rwdEr fqafad smafd T (The regular supply of material)

2. @=wrg Maedr 138 9 (Economy in expenses)

3. ATETEE gersd (Minimizing profit)

4. @=@TE T3 (Maximizing profit)

(A)1and2 (B)2and 3

(C)3and 4 (D)2 and 4

i ¥ (Overheads cost) F1 Y@ aUHT FH &9 & ¢ F{erd |

Identify the main classification of overhead cost from the list given

below: 4

1. = FaAT (Functional Classification)

2. =geeT ATGAT (Behavioural classification)

3. dcad AaHT (Element wise classification)

4. qUTETET ATGRAT (System wise classification)

(A)land 4 - (B)2.3and 4

(C)1,2and3 . - (D)3 and 4

A W F A9 e S7aer s (Inventory Management) HT

T B |

Inventory ‘V[anagement includes all of the following mﬁ)rmatxon

excepl:

(A) fa7 %7€ (Bin Card)

(B) €UEI? @ral (Store ledger)

(C) f&rr 7 T (LEFO and FIFO)

(D) 9% faveaor (Market Analysis)

FOE AT Feo AT & 7
In which year Halsey Plan introduced?
(A) 1890 (B) 1891 (C) 1892 (D) 1893

=<



10. TF FHIN Fiq °qUST 5. 18 TN S | § 4T IEEH THHT AT
0.25 =/ ATEE | g« 40 9T FTH TEl 16()0mwma|_;-
AT HAATH! ATHT R AT THIAR ST 72T 7
Wage rate of worker is Rs. 18 per hour. 0.25 Labour hour is needed to
produce 8 units. 1600 units were produced in 40 hours of wekk. On the
base of these information, calculate wages as per Hasley Plan?
(A)800 . (B)805 (C) 810 (D) 815

11, 7 fegue fawaeear sirer fHeng 8 3e% g |

Match the contents of the following and select COITect answer:

a. & I © 1. #fa® =9 greEr
(Halsey Plan) . (More Bonus Plan)

b. FrET AT ' 2. Tafvea a@gesr sarer

" (Rowan Plan) (Fixed time wages)

c. FHT FT WA 3. O AR
(Time rate Wages) (Work based)

d:  THEZ T AT . 4. FHEET FmeR
(Piece-rate wages) . =+ (Time based)

(A)a2,bl, c4,d3 ; (B) al.b4,c2,d3

(C) al, b3, c4, d2 1 (Dj a2, b3, cl, d4

12, .Economics order quanuty (FOQ) ferEFI—ff S (Formuld) BT Il‘cﬁ E
1

WhiCh of the fo[lowmg formuld is to calcu[ate Ithe Economic order
quantity?

2C0 : 2A0

RVE BN e
_ [2ca : [2¢0
5 (Dr\/jgf

A = Annual requirement :
O = Ordering cost per order, C = Carrying cost per unit

13, Wrer freTaEr |

Match the following: ‘
a. Ta<imE wEr 1. =FeEy Ao

{(Financial Accounting) ; (Managerial decision)
b, #@0H w@r . 2. fadm fagoor

(Cost Accounting) (Financial statement)
c. TIEAYF F@T 3. @A FATETT

- (Management Accounting) (Classification of Cost)
d. T =HEeTIR 4. iy TTET

(Fmancm] Management) (Profit Maximization)
A)a-2.b-3,c-1,d-4 (B)a.,b4 c-3.d-T1
(C)a-1.b-2,c-3.d-4. . D) a-4. b-3, ¢c-2. d-1



14.

17.

FTIAT AT @ (Actively based costing) FT THE FIZAES HA &

Identify the benefits of Actively based costing from the list given

below: ‘ _

1. SEEHT TEET @R 9990 (Cost allocated based on activities)

7414 FTET @ (Realistic Production Cost)

ZEEY gEe A T ®9e (Simplified decision making

process)

4. A JUTAT AL T F54 (Complex system, applicability is still
doubtful)

(A)land 4 - (B) 1.2and 3

(C)2,3and 4 (D)2 and 4

W

. UIATERIET ARTA 907 dRa [aid & &l 7

Which costing system can identity per kilometer cost?
(A) R ATTA gumer (Contract Costing)

(B) wfsHar & guier (Process Costing)

{C) HaT AT YuTer (Service Costing)

(D) THTET T guIreil (ABC Costing)

. BTHHE .. g9 &l |

Depreciation is ........... A expenditure.
(A) % (Cash) (B) & 74T (Non-cash)

(C) 39T (Credit) (D) & 9 €59 (None of the above)

9T @ qAE F A

What is capltal expenditure?

. (A) =T @9 (Current Expendnure)

(B) f?‘-“q? AETAHT MRTE @ (Expenditure to Fixed Assets)
(C) F==1 9579 (Raw Material Expenditure)
(D) %+ 9fF €27 (None of the above)

.Wwﬁmmammﬁ?ﬁamm

qIT e,

Describe the effect of overvalued indirect expenses charged on Cost
Amount on the Financial Accounts?

(A) ATHT =235 (Decreased Profit)

(B) ATHT F@T33 (Increased Profit)

(C) A &4, (Increased Loss)

(D) Eﬁff af €rg9 (None of the above)

. A fegua fagvurare drer fharg 9@ guv s |

Match the contents of the following and select correct answer:

a. Tew e 1. TrETEE '
(Fixed Cost Fxpendlture) (Vehicle Expenditure)
b. gfraaefrer s 2. HralgE =T

(Variable Cost) (Periodical Cost)
’ 9
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22

c.  7d gfrEaAsE Ara 3, =T AT A

(Semi-Variable Cost) ' (Raw material Cost)
d. fafF faavo ama 4. HTaaH AR
(Selling and Distribution Cost) (Telephone Expend:tule)
(A) a-1,b-2, ¢-3,d-4 (B) a-4, c-3, b-2, d-1
(C) a-3, b-1, c-2,d4 (D) a-2, b-3, c-4, d-1
. grarioreE S (Standard COSE) vovveeeeveseeennns FARTA & 1
Standard COSt iS @ ....ooeeeeveerens cost.
(A) GETTTET (Pre-determined) (B) Ufderiare (Historical)
(C) 9919 (Current) (D) YrEETEr (Accural)

AT AFEE TGEE T 31, F5% FEASTIE |

Read the following statements and identify the correct and incorrect

alternatives: .

4. FoZ gfaerel TRATEAEr Wi gHY fadrg e & 1 (Budget
may defined as the overall financial plan for future activities.)

b. FNCATE HASTCHF, Wigw AT g9 TIAT FH Wb A3 | (Budget
may be expressed in terms of quantity or money or both.)

c. FHeH TEEEEAE [Adiftd W W T gedi (ASeE |
(Budget assists management to attain the given goals)

d. =SE FFHIAHT ATETEA €9 | (Budget is not based on estimation)

(A) a7 b Fd1& B A7 ¢ Td 3F B | (a and b are incorrect but ¢ and
d are correct)

(B) a¥ b 3% B a7 ¢ ¥ d 8% . (a and b are correct but ¢’and d
are incorrect) 4

(C)a, b7 ¢ &% B a7 d ¥1% & (a, b and ¢ are correct but d is
incorrect) *

(D) ab 7 ¢ 38% B A% d &% B (a, b and c are incorrect but d is
correct)

v (e 3% T6F GeATS TR |

Identify 'True’ or 'False' in following statements:

. &= =9z (Sales budget) TIR W&l fawrael faf% yafaar @
fa@@ | (Past sales figure should be considered while preparing a
sales budget )

2. = F9z (Sales budget) FS(AT &1 I AT FeaA THE FeA?
958 | (The sales budget is usually prepared on the lines of the

.~ product or product group.)

(A) 1 31 &1 2 381 & (1 is true but 2 is false)

(B) T4 faawure® &% B (Both statements are true)

() E% faavure®= 5T B (Both statements are false)

(D) 1 ¥&r= & 2 3% &1 (1 is false but 2 is true)

9



24,

25.

26.

27,

28.

mmﬁumvﬁrxdncehmmﬁmﬁwmm?ﬁ

(Formula) T&MT =g 7

In management account, which of the followmg formula can be used to

determine the variance:

(A) FTEATEF AR - FrETeE @rrd (Actual Costs - Standard Costs)

(B) Teq7 @t - Frearas @t (Fixed Costs - Actual Costs)

(C) TeeT & - areaidgs @A (Direct Costs - Actual Costs)

(D) 9ITTE @HTA - #97 @d (Indirect Costs - Fixed Costs)

CMPU f#red 97 &7 =18 &l !

What is the formula for CMPU? .

(A) TafF e ofe gars - afradda ama e m(SPPU VCPU)

(B) qfead AT ST 9T 3ETE + feaw ST 9f 99T (VCPU + FCPU)

(C) Tt e ufw g&g + afvadry @ 9iq s#1E (SPPU + VCPU)

(D) e AT G g + AR ‘;Fa TH (VCPU + Profit per
unit) .

graTfiTE AT S@TE THE S499 & 8 ¢

What is the main objective of standard costing?

.(A) FTRTET Ff3 (Increasing profit)

(B) fafsm 33 (Sales Increasing)

(C) ArTaHTr afg (Cost Increasing)

(D) AT fRa= (Cost control)

What is the main objective of budget?

(A) AT T (Planning) (B) fg=vr 719 (Controlling)

(C) IH=T TH (Co-ordinating) (D) wrfgeEr | (All of the above)
et faguet faavare Sirer fAaE 78 3 SR |

Match the contents of the following and select correct answer:

a. fafs T9ic 1. fafs gereda gwafaa

_ (Sales budget) (Sales budget related)

b. IEEA T 2. ITRA SWEHT FEfedd
(Production budget) (Production Budget related)

c. HHUT @ive 3. FEREHT gHEET
(Material purchase budﬂet) (Production related)

d. =" =9 4, Tawraer fafw g gt

 (Labour Budget) (Previous sales Volume related)
(A)a-1,'b-2, c-3,d-4 (B) a-4, b-1, c-2. d-3
(C) a4, ¢c-3,b-2,d-1 - (D) a-3,b-1,¢-2,d-4°

Which of the following statements is not feature of Flexible Budget?
(A) arEfaEar (Reality) (B) FE=a&T (Coordinating)
(C) Fer7AT (Fixed) ’ (D) fFar=wr=ErT (Controlling)
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30.

b

AAET TG FA TIF G 7

Identify the incorrect from the following statements:

I. e =erswer fafs Soan arnr AT A €89 1 (If sales equal
to BEP, there will no profit, no loss.)

Urfaeg Wwal #W faf® quAr 9 &8 | (If sales.less than BEP.
there w111 be loss.)
3. Awfag 9= =9 fafs wuwr 9mer &9 1 (If sales more than BIP,

there will be profit.)

4. WWW?WWWWI{OpEHmQ
stock and closing stock effect in BEP)

(A) 1.27 3 &% 7 4 381% (1. 2 and 3 are correct but 4 is incorrect)

B)1 72 8% 737 4= (I and2arec0rrectbur3and4are
incorrect) -

(C) 1,2,37 4 31% (1,2, 3 and 4 are correct)

(D) 1.27 3 9&1% 7 4 31% & (1,2 and 3 are incorrect but 4 is correct)

A1 A A (e faeeraurET awataT g o

S5Q x SP — AQ x AP formula is related with: .

(A) 9rRYT @1Td fa=T4aT1 (Material Cost Variance)

(B) |ATHUT He fa~iar (Material Price Variance)

(C) A=Y 9fe=mr f=TAT (Material usage Variance)

- (D) ANTHT 9iqwe [9=aT (Material Yield Variance)

31.

32.

33.

A feeUH W FA BT FLIAAT 94
Which of the following is not objective of tax;
(A) =94 3fg (Revenue Increase)

(B) @14 iz (Economic Growth)

(C) &= fe=med (Aid Mobilization)

(D) FFa=AweTdT #4 (Controlling function) .
q [S5UH A & AYIY F A

Which of the following is indirect tax;,

(A) 91T %7 (Income Tax)

(B) ¥¥4fd &7 (Property Tax)

(C) g=1 af9dfg #7 (Value Added Tax)
(D) IS @19 &7 (Capital Gain Tax)
e fegus 79 &7 Uore &7 A 7
Which of the following is direct tax;,
(A) ¥ F7 (Income Tax) ‘

(B) =17 (Custom) )
(C) geor #fdig #7 (Value Added Tax)
(D) 94T %7 (Consumption Tax)

Q%
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35.

36.

L

T fameor e e gears e |

Identify ‘True' or 'False' in following statements:

[ FUEHAT ATUHE SEETT f5E 309 ae  IfEusr wuEr &
(Income tax system in Nepal has been introduced from B.S. 2017)

2. favaw s swAm FemaAE HWUFT &7 | (In the world history
-income tax has been introduced from United Kingdom.)

(A) 1 8% & 2 38 2 (1 is true but 2 is false) '

(B) 37 faavwe= &% @ (Both statements are true)

(C) 37 faavwes &= @ (Both statements are false)

(D) 1 %1% & 2 &1 & (1 is false but 2is true)

Identify the objectives of tax from the list given below:

I SFSETETE 923 (To reduce unemployment)

2. @l FUETATE FEV T (To protect domestic industries)

3. A T T (To re-distribute wealth) ;

4. IqEE @ T3 (To increase unproductive expenses)

(A) I and 4 (B)2 and 4 (C)3and 4 (D)1,2and 3

- Identify the priciples of taxation from the list givenrbel;aw:

1. eaerfmEer fage= (Cannon of economy)

2. FuFATHE FET (Cannon of equity)

3. wuwarsr faz=T (Cannon of elasticity or flexibility)
4. gurasfEred faare (Cannon of Inclusion)

(A) I and 4 (B)2and 4
(C)3and 4 - (D) 1,2and 3
Y& v S G gearsaerg |

Identify 'True' or ‘False' in f()l]ov;ing statements:

1. #¥aT T, 0Y4s ATAT AT FY AT ®A WEw 9§ 3@ @
ATAR AIE . WA AHF qGaeE TG | (According to
income tax act 2058 ‘income tax’ means a period from the first day
of Shrawan of any year to the last day of Ashad of the next year.)

2. HAIF A, 045 ATAR AT G T AR AT 2,
AT AT ATHHE AT T W A FERIEE | (According
to income tax act. 2058 'Income’ means the income earned by
person from employment, profession. investment or other benefits.)

(A) 1 3 & 2 %41 &1 (1 is true but 2 is false)

(B) ﬁ fraves i 7\ (Both statements are true)

(C) 34 faarves s @ (Both statements are false)

(D) 1 & & 2 &% & (1 is false but 2 is true)

»
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39.

40.

41.

ﬁ%ﬁ(l)mﬂiﬁ(ﬂ)mﬁﬁ#ﬁwml

List -L List-II
a. A, TAE 1. fvee eeE

(Exise duty, VAT) (None Tax Revenue)
b. @&, Il 2. 9HYH &7

(tht Donation) (Direct Tax)
c. YR wT 3. AYHE B

(Income Tax) (Indirect Tax)
d. @z (Budget) 4. FTETAT T @HH! [qER

: (Income & Expenditure statement)

(A) a-4,b-2 ¢-3, d-1 (B) a-4, b-3,c-1.d-2
(C)a-1,b-4,c-4,d-3 (D) a-3.b-1,¢-2,d-4

Which is not the objectives of Tax;

(A) SRS FHET FH T (To reduce unemployment)
(B) Trwea e+ (To collect Tax) '
(C) AFa=aHT I 1+ (To boost up the economy)

(D) IR 9 T (To receive granl)

F qH A A FIETA & Ted !

What is done by tax payer when there is loss in certain year
(A) & foar & (Tax saving)

(B) ®7 TRITaT ¥6-3 (Tax outstanding)

(C) A7 B 37 (Both A and B)

(D) AT %+ 9i9 &g (None of the above)

qeT Atgfg w7 FET F A !

Value added tax is what type of tax;,

(A) yeaE (Direct) (B) AITE (Indtrect)

(C) w=e (Custom) (D) o738 (House Rent)

_.Wqﬁqﬁ'mmﬂwh@mmﬁmmaﬁw

BRI |
In relation to the value added tax. match the contents of the following
and select correct answer:

a. faazor gifEsT 1. w7 g dadT e
(Tax Return file) (Tax exempted)

b, &% fmal 2. aYE FRER
(Tax Refund) ’ (Annual Turnover)

c. FUEA - 3. g %t fqaee
(Tax System) (Self-Assessment)

d. AT & 4, =y fm e
(Taxpayer Registration) (Within 25 days)

(A)a-4,b-1,¢-3,d-2 (B) a-1.b-2.c-3.d-4

(C)a-2,b-4,c-3,d-1 -+ (D) a-3.b-1.¢c-2.d-4

L



43.

44.

45.

T Ataglg F FEAAH A9 feguw fraeurare wirer feems & Iww
W | -
In relation to the value added tax, match the contents of the following
and select correct answer:

a. W EIfEET FOLH 1. U 3fE 33 g9 i
(No Tax Return File) . (One- Two thousand penalty)
b. wRERHAT fae Afewar 2. Y WiqeE 99 T
 (No issuing Bills) - (15% additional fee)
C. * HIETAT THTIYT FRTEHT 3. 9000 HfEmET
(Not keepitn Taxpayer (1000 penalty)

Regitration Certificate)

d.  @IEIET FAT T FRER TWET . 4, 4000 [RETT
(Twansaction without (5000 penalty)
Registration in tax office) : '

_(A)a-4,b-1,¢c-3,d-2 (B) a-1, b-2, ¢-3, d-4

(C) -2, b-4, c-3, d-1 (D) a-2, b-4, c-1, d-3
THRATH] ATHAT Teh HTHTH F1T 76T G50 9% HT H7 Aq0Eg 7

- In a profession, couple can only pay 1% tax what is the maximum’

taxable income of that profession?

(A) Rs. 2,50,000 - (B) Rs. 3,00,000

(C) Rs. 2,00,000 (D) Rs. 1,60,000

ekl faaeoEeTel B 49 A ¢

Which is incorrect from the following statements:

I. @MWW@?%WWWWW|
(Vat is charged in difference between selling price and purchase)

2. AU Y AfTElg # FAA 040 #1E @R 94 | (VAT is started
in Nepal from 2050 B.S.)

3. HA® UF THEE AYAS F & | (VAT is one kind of indirect
Tax)

4. HAF F AR AAH ITHERAT 955 | (VAT i is ch.lrged on final
consumer)

(A) 1.374 &% 7 2 351 (1, 3 and 4 are correct buf 24§ incorrect)

) (B)I?3ff‘=5?2?4a'§ﬁﬁ(i and3arecorrectbut2and4are

46.

incorrect)

Q1 748F 727 373‘51?6 (1 and4arec0rrectbu12and3are
incorrect)

(D) 1,2,47 4 8 & (1, 2, 3 and 4 are correct)

ITET FAAHT AGTIAE FET |1 e fadr o

In ancient times objecnves of auditing was limited to ..................

(A) fe|Tg RIS FT (Submit the account) ’

(B) TIOTTa 9[gar S 7+ (Examine mathematical accuracy)

(C) =TT @& W& fa (Inform income and expenditure)

R



417.

48.

50.

51.

52.

53.

54.

(D) @ide HE 9e] (Examine financial transaction)

............... T, | :

Unknowingly done errors are mistake but knowingly done mistake are
(A) =TT (Thieving) (B) 3@=%9< (Fraud)

(C) Te (Errors) (D) gfatez (Entry)

T TeATEE Al TS OGN AGA dibad | Al qATg & @ !
Compensating errors cannot be identified through trail balance. What is
it?

(A) &1 (Right) |

(B) &1F (Wrong)

(C) wifar & (Partially right)

.. (D)=~ 9 &% €57 (None of the above)
49.

In which conditions Embezzlement of Cash may occurred?

(A) FTHT fafh (Sale of Goods) (B) @ @i?F (Purchase of Goods)
(C) A7TE ST (Cashpayment) (D) HITaT T3 (All of the above)
QTS TAH Ted dHieel dig HeTol TeIATEE] SqaedT AT ¢

When was Auditor General provisioned first time in Nepal?

(A)BS 2016 (B)BS2020 (C)BS 2012 (D) BS 2018
qfedsr FFAATHT S@IoadH [Aaid Had 16E 7

Who appoint the auditor in public company?

(A) T=ei EIAIT (Board of directors)

(B) ==& (Manager)

(C) weTe@r we® (Auditor General)

(D) 9147 &ee? (Shareholders)

HETer@T JEeee ATRAT arfde Jiqded ... THE 97 T |
Auditor general presents the annual reports 0 .......ocooeeeeenen .

(A) TTeZatT FHE (President)

(B) F&THHAT (Prime Minister)

(C) @4 weTed (Ministry of Finance)

(D) #f=afeug (Cabinet)

qfserE  FEEET AGE WER A 5E gUASl wd feq e
SrreafieTs qET I 7

How many days before should notify the shareholders about general
meeting in public company? _ :

(A) 21days (B) 22 days.  (C) 20 days (D) 30 days
“FTTET AT %, 90,000 W qAT A @ity AT AT FEE @ A ¢
"Purchase a net tyre for a car” it is ....coooeeiiiinns

(A) #TITT @+ (Revenue expenditure)

(B) 9= @= (Capital expenditure)

R
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56.

a9

38.

(C) #1397 @ (Office expenditure) -
(D) HATT A4 @ (Vehicle expenditure)
ST FeraEe |

Match the following:

a. ATTH o@r Toragor 1. o= @iy
(Final audit) (Continue Check)

b. @A sar gfa 2. TYRT | TEE
(Internal audit) (Once with-in a year)

C. AT [Fa=u 3. wrfeE @ faames
(Internal Control labour) (Internal division of work)

d. #r=iE @i 4. YYTEIAF q9T A@IOHE [AEEET
(Internal Check) (Administrative and Accounting

Control)

(A) a-2, b-1,¢-4,d-3 " (B)a-3,b-2,c-1,d-4

(C)a-4,b-3,¢-2,d-1 (D) a-1, b-4, ¢-2, d-3

ST fAeTS e ) - .

Match the following:

a. HETHEl TIaE 1. = o@Er g
(Auditor General) (Final Audit)

b. wEreEr fAg== 2. Y HIHYA
(Comptroller General) (Treasury Management)

c. T YT T A=A watas 3. foreen Ferd mwverd sy
(District treasury of ATATE @l qEor

“comptroller account office) (Internal audit of district offices)
d. s/ fanr Fmar 4. g -t 7 Aty
(Ministries/Department/Offices) (Internal control and check)
(A) a-2, b-3, c-4, d-1 (B) a-1, b-2,¢c-3,d-4
(C) a-3, b4, c-1, d-2 " (D) a-4,b-3, c-2,d-1
Wqﬁmmwﬁwnﬁw,nﬁﬁWaﬁaﬁﬁ?
EE

Identify the materials that auditor general should given consideration
while conduction audit from the list given below:

1. Tataaar v foaedrar (Regularity and economy)

2. HTAEEAT (Efficiency)

3. WHTEHIAT 7 Afaerar (Effectiveness and propriety)

4. |EW AT (Participation)

(A) 1 and 4 (B)2 and 4 (C)3and 4 (D)1,2and 3
FHA ATNE TGS Aferra @ T FR T qwg
Who can make Internal Audit as Final Audit?

(A) 9T |¥FT (Government of Nepal)

(B) W@l 995%F (Auditor General)

(C) ®eTer@r 9= (Financial Comptroller Géneral)

]8R
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61.

62.

63.

(D) @4 w=ed (Ministry of Finance) \

Who can make performance Audit?

(A) 9Tg€ THE=< (Charter Accountant)

(B) Werer@r T¥E® (Auditor General) ;

(C) werer@l f7a=% (Financial Comptroller General)

(D) #9797 wr@r s FEe (District Treasurey Comptroller
office)

o1 fagua faavrar % T6 e |

Identify ‘True' and 'False' in the following statements:

I ﬁ&ﬁwmm%ﬁﬁwﬁqja?wﬁmﬁmmwwﬁm
(Vouching) #9738 | (Vouching means a careful examination of all
original evidences) -

5 Ty TaauEEEl AATAAT 7 GEHAETS THIO T F (Variation) Gl
(Verification means to certify or confirm the truth of financial
statement.).

(A) | 31 212 5% & (1 is true but 2 is false)

(B) 5% faa7vre= &% 3 (Both statements are true)

(C) ¥ faawvre= 381% B (Both statements are false)

(D) 1 ¥ €2 & 71 (1 is false but 2 is true)

raster Gt T F A

What is Working Capital?

(A) .= AfrerETe =T AR gerg qebt 774 7% (Current Liability —
Current Assets) )

(B) =T afeaTe =] AT wers ekl & TFA (Current Assets —
Current Liabilities) ' :

(C) %= wfaare @ Wi wers Aer A W (Total Assets
Current Liability) :

(D) &a qfF €7 (None of the above)

T T Fepr ASATEE ATAIAH AAH F T ¢

Who chairs the Board of Directors of Nepal Rastra Bank?

(A) @9 |t=9 (Finance Secretary)

(B) @9 w1 (Finance Minister)

(C) a7 (Governer) ¥

(D) @1 Af=Fa (Company Secretary)

et fezwa faavoraTe Arel (Hemg Fe I B |

Match the contents of the following and select correct answer:

a. A9 ML AF 1. e =EEA

(Nepal Rastra Bank) (Capital Management) )
b. faxira ===amT= 2. WEETI

(Financial Management) (Cooperatives)

c. amrer IF 3. AdEwd

qo00



64.

65.

66.

67.

68.

69.

(Commercial Bank) % (Overdraft)

d. fafrr ger - 4, HET TF
(Financial Institution) (Central Bank)

(A) a-2, b-3, ¢4, d-1 (B) a-1, b-2, ¢-3,d-4

(C_) a-4, b-1, ¢-3, d-2 (D) a-2, b-1, c-4, d-3
AT AE FFF! TG Fae qCH & 7 -
When did Nepal Rastra Bank was established?

(A) 2013 Baishakh 12 (B) 2013 Baishakh 13
(C) 2013 Baishakh 14 (C) 2013 Baishakh 15

TS T FFH Fourers JOATTAT BT T97 Fowres g
How many members are governing board of Nepal Rastra Bank?
(A7 (B)9 © 11 (D)5
wmm’wanﬁwmmaﬁwml
Match Group (I) with Group (II) and choose the correct answer from
the following: ' '
Group I Group 11
a. ¥ (Class'A) 1. aorer ¥ (Commercial Bank)
b. @ =W (Class 'B") 2. fawwg 3% (Development Bank)
c. WA (Class'C) | 3. wEardy (Co-operatives)
d. W& (Class'D) 4. fadiT sweames (Financial Institution)
(A) a-1.b-2, c-4,d-3 (B) a-3, b-1, ¢ -2, d-4
(C) a-3. b4, c-2, d-1 (D) a-4, b-1, ¢-3, d-2
A WA ST ANMTH WEeT &7 A 95 1
Which of the following is not importance for cost of capital?
(A) IS =7=rmmar fvim (Capital Structure Decision)
(B) T 97T (Investment Decision)
(C) @rarer Hifq FviT (Divident Policies Decision)
(D) fafw 7 faoim (Selling Price Decision) g
afc =% = Rs. 4,00,000, 9=+ @mT = Rs, 2,00,000 7 &7 &A=
Rs. 1,00.000 9125 99 Ars7 gerawmivar # 5 ¢
When Sales = Rs. 4.00.000, Variable Cost = Rs. 2.00,000 and Fixed
cost = Rs. 1,00,000 the how much is operating leverage?
(A)2 (B)2.5 (@3 (D) 1.5
TEAH AT TG 7 5 AEF FEATSTRI |

Read the following statments and Select the Correct/Incorrect:

‘a4 FEET AT (Insured) 7 drHE (Insurer) 74T 3% 987 g7a |

(Two parties are involved in insurance contract namely, insured
and insurer.) _

b. mmwmmwmammwm
Board of directors of Nepal Rastra Bank includes Finance
secretary.)

901



70.

1.

72.

c. 9 e Fearg deewsl 9% 97 wf7=3 | (Nepal Rastra Bank is
also called 'Bank of the Bank'.)

d. gma =% (Capital Budgeting) ST gud guteaa @ | (The
Capital budgeting is concerned with recurrect expenditure.)

(A)aTbdF L@ cTd TEE B | (a and b are correct but ¢ and d
are incorrect) ’ :

(B) aTb#E LT c ¥ d &% B (aand b are incorrect but ¢ and d
are correct) i

(©)abic S @ a7 d 5% 3 (a, b and c are correct but d is
incorrect)

(D) a, b 7 d FEF FLA ¢ £ B (a, b and d are incorrect but ¢ is

FIF @ |

The term leverage is quite commonly used to describe the firm's ability
to use fixed cost of assets or funds to magnify the returns to its Owners.
"Who defined it? : :

(A) Lawrence Gitman (B) James Walter
(C) Maurice Joy (D) None of the above
et Tagua fqavuETe Srer faeng e I B |
Match the contents of the following and select the correct answer.
a, =T AT FEta - 1. T EE A
(Payback period) (Cash flow value)
b. Ez FAAA A 2. A
(Net Present Value) . (Ratio)
c. TR AT 3. ¥ g% q9AE A
(Profitability Index) - (ONPV)
d. @riE giahd @ 4, @G
(Internal Rate Return) (Time)
(A) a-4,b-1,¢-3, d-2 (B) a-4, b-1,¢-2, d-3
(C) a-2, b-3, c-4,d-1 (D) a-2, b-1, c-4, d-3

T FEATA F. §,00,000 T TS T A AF AR gfqad =,
30,ooommﬁiaﬂ'€mmmﬁﬁma1wmﬂ
%qfﬁﬂ?f?a'grﬂi.emﬁiﬁra!ﬁrwﬁmmﬁﬁqa
FEH W T TS |

Net cash outlay of project is Rs. 1.00,000 and it generates cashflow Rs.
30,000 each year for 5 years. The minimum rquired rate of return is
{0% and Discount rate is 3.791. On the base of these information,
calculate Net Present Value of the project?

(A) Rs. 13700 (B) Rs. 13720

(C) Rs. 13730 (D) Rs. 13750
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